——
N = 0] &F AF S & AN A
2015 = 20l A LB H 2FS
SN ¥ES
HHM: 2HE 29
Sl FHE AR (S &2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
EFSES 302,267 358,900 N 56,633
s 29 238,289 299, 893 N61,604
2ds AFY EH| 238,289 299,893 A 61,604
A2 FOU=RAAY 50,000 50,000 0
401 Al HI L E0HHI 50,000 50,000 0
01 Al& H| 50,000 50,000 0
OALRD FOU=SIAALY 50,000
N8l 249 5,939 5,939 0
301 LBt A= 5,939 5,939 0
04 AIsHHHIJISFH| 5,939 5,939 0
OXNSsSesYHUHE oFraldl 2,500& x2H x365 1,825
oxnsgedi i 29 3,000
Ogtex A ®I|2 6,000 120 & 72
OgtH = A A2t 392,000 10 & 392
Ogte x A 22| & XY 150,000 »1JH 2~ 150
oxsgdd 244l 500,000 =104 & 500
ScletE 29 49,070 49,070 0
301 et A= 49,070 49,070 0
05 S&E -0 -EHEESEMN= 49,070 49,070 0
OsH® Jles 200,000& x14H «12& 33,600
Osd &3 200,000 14X *200% 5,600
OS&HF 9 EFAxxG 20,0003 x14H x23| x12& 6,720
OBty ¢ 25,000 x63H 23| 3,150
A2 A K& 8,860 8,360 500
301 Lt A= 8,860 8,360 500
09 SHAIAHI B A2 7,860 7,360 500
O=&H 20,000¥ x50 1,000
OFEUHES A 5,000
OLQHOIEE U3 20,000 x25H 500
OEH(BE) Mtz 40,000& x14H 560
ODJIE} & A} 800
11 J|EtE A2 1,000 1,000 0
OsAdeXA 1,000
2HS HAL2L 114,420 183,024 A 68,604
101 e1214| 3,480 2,084 1,396
04 JI2tHIZ22NHEE S 3,480 2,084 1,396
OFR 249 JI23H| 58,000& x10¥ x63] 3,480
201 LBt ]| 58,240 58,240 0




SN 2ES
g s 24
Sl BFS A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 44,240 42,740 1,500
Oget=&H| 13,540
O= &l 1,200
O22=+4H gz 1,500
OFQTXIHEH 28I 25,000
OXXIAtE S 2] 3,000
02 23=2gHl 14,000 15,500 A 1,500
O=323<HA 7,000
O¢zl 2,000
OA&&EHl Sl 2,000
Oxtg 29l 3,000
206 M= Hl 1,500 1,500 0
01 24l 1,500 1,500 0
Oc2H #AFY 2 HEXY 1,000
OEzs BLXH WE7Y 500
307 glz2+0ol & 1,200 1,200 0
05 RIZt2E = 1,200 1,200 0
OFAL 213l XNig=s=+2
100,000& 10 A %123 1,200
401 A& HI L 20l 50,000 120,000 A70,000
01 A& HI 50,000 120,000 A70,000
OFQdlE AlZFHI 50,000
ANAM=ECHE & A SHA 10,000 3,500 6,500
201 2et2 Y| 10,000 3,500 6,500
03 &Ar2 I 10,000 3,500 6,500
OAl2lst et H = &tore 10,000
HE2IIH(2ES) 63,978 59,007 4,971
olet 2 oy 28,853 28,007 846
2Es AF 2| 28,853 28,007 846
101 @14l 28,853 28,007 846
03 RIAHAZZ2THE = 28,853 28,007 846
O 32N #FEXA(1Y) 28,853
2= 1,166,220 128 13,995
o0z 1,166, 2203 *400% 4,665
eS| 120,000 128 1,440
& oz AlY| 130,000& =123 1,560
ANZte 2R+
7,804 «15A1 2k« 1. 58« 12& 2,108
HEFOHI(E ,=4) 1,166, 220& *120% 1,400
It E At 62,4323 x102 625

-2 -



SN 2HS
M HHR2IZH(Z2ES)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o2&+ 215,000 128 2,580
cHera sl 40,0003 x12& 480
JlE &3l 35,125 31,000 4,125
EEs Jl=dl 35,125 31,000 4,125
201 £B-2%H| 2,825 2,900 AT5
01 At 22l 2,825 2,900 AT5
OsfY N2 25,0003 1132 2,825
202 o4dl 17,400 17,400 0
01 = LH o4 1l 1,200 1,200 0
O=Wotl 1,200
02 M0t 16,200 16,200 0
O HNH 150,000& =123 x9H 16,200
203 YR =&l 10,000 10,000 0
01 D228 Y= 6,600 6,600 0
OJIZ2ggRF&| 550,000 »12& 6,600
02 33 H 2= 400 400 0
OFRIILLRETY| 40,0008 *10% 400
04 FN2ELRZ=TH| 3,000 3,000 0
ORAM2IYRFLH 250,000 122 3,000
405 TtakH S| 4,900 700 4,200
01 AL EFH S 4,900 700 4,200
ORIRA ZpIS=/028 ANH 2Y
200,000& = 1CH 200
OXXAEEY FHSLIE 2 900,000 «1CH 900
OXXIAtE S 2ZetntE i 2
1,600,000& »2CH 3,200
OXNXIAIZE (OS2 Za0l 600,000 «1CH 600




